
Subtracting up to 1000 with carrying (H - set 1)
SUBTRACTING UP TO 1000

Name:

Time: Score: /

621) 978− 812 = 631) 140− 115 =

622) 167− 66 = 632) 631− 405 =

623) 626− 540 = 633) 571− 536 =

624) 901− 126 = 634) 534− 313 =

625) 939− 422 = 635) 498− 409 =

626) 604− 117 = 636) 100− 12 =

627) 35− 20 = 637) 536− 367 =

628) 350− 27 = 638) 428− 47 =

629) 333− 191 = 639) 779− 567 =

630) 817− 431 = 640) 509− 454 =

Mathematics: Subtraction - Level 6 - Horizontal - Set 1 33 © workulum.com

https://www.workulum.com

